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Check that the National Student Number (NSN) on your admission slip is the same as the number at the
top of this page.

Listen to THREE passages. You will hear EACH passage THREE times:
The first time, you will hear the passage as a whole.
The second and third times, you will hear the passage in sections, with a pause after each.
As you listen, you may make notes in the LISTENING NOTES boxes provided.

Before each passage begins, you will have 30 seconds per question to preview the questions.
At the end of each passage, you will have time to review your answers.

You should attempt ALL the questions in this booklet.

Answer each question in your choice of English, te reo Maori, and/or Spanish. If you need more room
for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2—14 in the correct order and that none of these pages is blank.
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QUESTION ONE

(a) Describe the early history of the kiimara, and how it arrived in New Zealand. Support your
answer with evidence from the passage.
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(b) Explain the importance of the kiimara to Maori. Support your answer with evidesom the
passage.
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(c)

4

What can food, in particular the kiimara, tell us about how different cultures influence each ASSESSOR'S
other? Support your answer with evidence from the passage. i
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QUESTION TWO

(a) What is the attitude of the show’s host regarding happiness? Justify your answer with specific
evidence from the passage.
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(b)  What advice might the show’s host give to the caller about his problem? Base your answer
on what the host said about sadness, and details of the caller’s problem.
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QUESTION THREE

(a) Explain how technological innovation has affected our consumption of electronic devices.
Support your answer with evidence from the passage.
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(b) According to the experts in the passage, who is to blame for the increase in electronic waste,
and why? Is it the consumers, the manufacturers, or both?
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Achievement Exemplar 2018

Subject | Level 3 Spanish Standard | 91568 | Total score | 12
Q Ll Annotation
score
This response answers each part of the question well. There is enough evidence
1 M5 given when justifying the answers to warrant the candidate having a clear
understanding of this text.
The candidate has correctly conveyed the main points of the text and has given
2 A4 some evidence to justify the understanding of these. However, there is a lot more
specific detail that could have been used.
The candidate has identified some of the main points and used some correct, yet
3 A3 basic, evidence to justify these. It can be said that there is some understanding of

the text, but no more.






